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#function for calculating the t—test for two

independent samples

def independent ttest(datal, data2, alpha) :

#icalculate means

meanl, mean2=mean (datal), mean (data2)

#icalculate standard errors

sel, se2=sem(datal), sem(data2)

#tistandard error on the difference between

the samples

sed=sqrt (sel*k2, 0+se2**2. 0)

ficalculate the t statistic

t_stat=(meanl-mean2) /sed

#degrees of freedom

df=len(datal)+len(data2)-2

#talculate the critical value

cv=t. ppf (1. 0—alpha, df)

#tcalculate the p—value

p=(1. 0-t. cdf (abs (t_stat), df))*2.0

#ireturn everything

return t_stat, df, cv,p
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